ation structu
ovelop ral Teally mac
vast idle labour force and (b
smployment was viewed as the by-pro
d that employme_nt wopld automatically rise with th.
st, programmes for reducing unemployment Anatade
‘areas failed miserably on account of poor -dfganis“étion.;.
very little efforth was made by planners to raise mnon-agricultural Vo
,eﬁployment- Thirdly, the programme of land reforms failed to create small
oWsner'-holding- Fou.rthly, on the industrial front, emphasis was given on
the capital goods 1nd1%str1es. Small scale and cottage industries were
~ relatively neglected. Fifthly, there was rapid expansion of luxury and
| durable consumer-goods industries, once again using capital-intensive
methods, with imported machinery. ; , ; :
~ Another major facter behind static occupation structure is the high rate
of population growth. It has led to the high rate of growth of labour force.
As a result, the problem of decreasing the proportion of population
. dependent on agriculture has become more difficult. Measures to control
the growth of population were both inadequate and ineffective. /‘

It seems that the only meaningful way to change the occupation
structure is to abandon the policy of building enclaves of modern large-
scale industries but to foster the growth of non-agricultural employment,
particularly in the rural sector. For this, small scale industries and rural
infrastructure are to be developed. Equally urgent is the control of

population growth.

22.9. Inequality in the Distribution of Income in India

We know that per capita income is only an average figure. We cannot
get any idea about the standard of living from the per capita income. If
income of a few rich rises, then per capita income rises but the stand‘rar.d:ﬁf :
living of the common people will not increase. Thus, with the growth i‘ﬁ

I income, if inequality of income in any country rises, the stand'ard 'qi?f N
- Maynot rise even if per capita income rises. It has been found in I 1

- P capita income during the plan period has increased, but the ine
Ncome has increased side by side. As a result, the standard of
s has not increased very much. Removal of poverty and
ity of income distribution were two major goals.
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